

Public Safety Meeting

AGENDA

November 4, 2008

- I. CALL TO ORDER
- II. MATTERS BEFORE COMMITTEE
 - 1. Purchase Police Vehicle
- III. ADJOURN



Public Safety Meeting

AGENDA

November 4, 2008

Item:
Purchase - Police Vehicle Department:
Police Additional Information:
Request to purchase a Police Charger to replace a 2003 Crown Victoria. Part of money will come from insurance company from totaled vehicle. The rest will come out of the Condemned Account. Financial Impact:
Insurance Check and Condemned Account. Budgeted Item:
Recommendation / Request:
To allow purchase of new vehicle.

Viewing Attachments Requires Adobe Acrobat. Click here to download.

Attachments / click to download

7	Vمl	nic	le C	יוו(t۵

Thomas J. Madden and Assoc. Inc. 3545 Cruse Road NW

Suite 301 Lawrenceville, GA 30044

Voice: 770-638-3141 Fax: 770-638-3148

Quote Number: Q3332 Quote Date: Oct 16, 2008

Page:

Quoted To:

Tom Madden 3545 Cruse Rd., NW Suite 301 Lawrenceville, GA 30044

Customer ID	Good Thru	Payment Terms	Sales Rep
TOMMADDEN	11/15/08	Net 30 Days	

Quantity	Item	Description	Unit Price	Amount
1.00	SX8BBBB	LIBERTY SX 48.50"" LC B/B/B/B	921.60	921.60
5.00	SLDBB	LIBERTY OPT. ADD 2 LED BLU/BLU	173.40	867.00
1.00	SXALF1	LIBERTY SX LR11 ALLEYS LEVEL 2	151.80	151.80
1.00	SXTLS1D	LIBERTY SX DUAL LR11 TD LEVEL2	303.00	303.00
1.00	I09UFX	LP INNER-EDGE 12-LT 06-07 C.V.	854.40	854.40
1.00	D6BBBBBB	DOMINATOR 6 LED B/B/B/B/B/B	286.80	286.80
2.00	VTX609B	VERTEX SUPER-LED LIGHT BLUE	72.00	144.00
1.00	HA02FBB	FRONT LED HIDE-A-WAY SYS. B/B	376.20	376.20
1.00	HA02R2	2-LAMP REAR LED HIDE-AWAY RED	376.20	376.20
1.00	I02UR8L	INNER-EDGE 8 LIN T/A 05-06 C.V	771.00	771.00
1.00	TLNCV5BB	REAR DECK T-N '05 CV BLU/BLU	271.20	271.20
2.00	RSB03ZCR	TIR3 HORIZ. SYNC. BLU.	52.80	105.60
1.00	C-TIR3-CV	DEVICE MOUNT LT LCPMT WH TIR3 CV	24.60	24.60
		95-08		
1.00	P2604FD-P	Center Sliding	339.50	339.50
1.00	01-0684517-02	ASS'Y FINAL LED SIGN "POLICE"	285.00	285.00
1.00	C-AS-1025	CONSOLE AS 10TMS 25DG HC WO-VMT	138.60	138.60
1.00	C-SP-3B	CONSOLE ACSY PNL INTERNAL MOUNT	170.80	170.80
		3MS [7]SWITCH SP		
1.00	C-SM-SA-1	ACTION ADAPTER SWGARM EXTERNAL	72.80	72.80
		MOUNT		
1.00	C-3090-7	DEVICE MOUNT ULTM UNVMT	146.30	146.30
		TILT/SWIVEL 1.38h		
1.00	C-CUP2-I	CONSOLE ACSY CUPHLDR INTERNAL	29.40	29.40
		MOUNT 4MS DUAL		
1.00	C-TM-CV	BASE TRKM 32EXTR W-VMT CV 95-08	88.90	88.90
	1	,	Subtotal	Continued
			Sales Tax	Continued
			TOTAL	Continued

Thomas J. Madden and Assoc. Inc. 3545 Cruse Road NW

3545 Cruse Road NW Suite 301 Lawrenceville, GA 30044

Voice: 770-638-3141 Fax: 770-638-3148 QUOTATION

Quote Number: Q3332 Quote Date: Oct 16, 2008

Page: 2

Quoted To:

Tom Madden 3545 Cruse Rd., NW Suite 301 Lawrenceville, GA 30044

Customer ID	Good Thru	Payment Terms	Sales Rep
TOMMADDEN	11/15/08	Net 30 Days	

Quantity	Item	Description	Unit Price	Amount
1.00	CCSRN2	CENCOM 2 SIREN SYSTEM	760.80	760.80
1.00	CCMICX20	CENCOM 20' MIC. EXT. CABLE	55.80	55.80
2.00	RSB03ZCR	TIR3 HORIZ. SYNC. BLU.	52.80	105.60
1.00	C-3190	TRNK TRAY SLIDE H NYLON DS CV 95-08 SP	133.70	133.70
1.00	D3825L	Trunk Organizer ABS w/ polycarb hinged lid 27-3/4"" X 42-1/4"" X 9-1/4""	187.60	187.60
2.00	RBKT3	C.V. TRUNK MOUNT KIT FOR TIR3	14.40	28.80
1.00	SA314P	SA314P SPEAKER BLACK PLASTIC	154.20	154.20
1.00	SA315P	SA315P SPEAKER, BLACK PLASTIC	151.80	151.80
2.00	SAK17	SA315 MOUNT KIT FORD CROWN VIC	19.20	38.40
1.00	HOWLER1	LOW FREQUENCY TONE SIREN SYS.	411.00	411.00
1.00	WAREHOUSE	CROWN VICTORIA	7,000.00	7,000.00
		2005MILEDGE-61,493COLOR-SILVER		
			Subtotal	15,752.40
			Sales Tax	

TOTAL

15,752.40



Motorcycles Boats Recreation Vehicles Manufactured Homes **Buy a Price Guide** Autos Classic Cars

Take a Shortcut New Car Used Car Find Your Car | Reviews | Compare Cars | Car Loans & Insurance | Dealer Quote | Blog



Find a New Car at the right price

Find Yours Nov

We found 3

2005 Ford listings of this model within

25 miles of your ZIP code Click here to see them

Body Style > Make > Year > Model & Trim > Mileage & Options > Value Report

2005 Ford Crown Victoria-V8 Sedan 4D Police Interceptor

Vehicle History Report Get a Free VIN Check		10
Press GO or Enter VIN	GO	PR
√ AutoCheck		
		Ba

Find Your Car	
Ford	1
ZIP 30655	GO
Powered by	

Get Financing Apply for a Loan Now

carloan.com

Know Your Credit History

Credit Report & Score-\$0 freecredit report com

Lower Your Premium Free Online Insurance Quote





FREE Credit Report Donate Your Vehicle **DMV Forms**

Sell Your Car AutoTrader @ Sell it Now

Free Dealer Price Quote

		October 28, 2008
0 0	print this page	email a friend
RICING		

	Rough Trade-In	Average Trade-In	Clean Trade-In	<u>Clean</u> Retail
Base Price	\$6,150	\$7,375	\$8,400	\$10,475
Mileage - 61,000 miles	-\$600	-\$600	-\$600	-\$600
Options				
W/out Power Seat	-\$225	-\$225	-\$225	-\$225
Handling Pkg	\$375	\$375	\$375	\$425
TOTAL PRICE	\$5.700	\$6.925	\$7,950	\$10,075*

* This Retail price is based on a clean vehicle history report. Don't make a \$10,075 mistake. Get a Free VIN Check today.

NEXT STEPS

Free Finance Quote Lower your Insurance Payment

FREE Credit Report & Score

Finance & Insurance Center

Find this Vehicle

Sell Your Car

Get DMV Forms to Transfer Title

Payment Calculator

Note: Vehicles with low mileage that are in exceptionally good condition and/or include a manufacturer certification can be worth a significantly higher value than the Retail price shown.

Disclosure statement

Item # 1